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Part 1: Building a Foundation

What is a system of equations?

undefined. A) A single equation with multiple variables
undefined. B) A set of equations with the same variables ✓
undefined. C) An equation with no variables
undefined. D) A set of equations with different variables

A system of equations is a set of equations with the same variables.

Which of the following are methods to solve systems of equations?

undefined. A) Graphical Method ✓
undefined. B) Substitution Method ✓
undefined. C) Multiplication Method
undefined. D) Elimination Method ✓

The methods to solve systems of equations include graphical, substitution, and elimination methods.

Explain what it means for a system of equations to have no solution.

A system of equations has no solution when the lines representing the equations are parallel and
never intersect.

List the three types of solutions a system of equations can have.

1. Type 1
One solution
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2. Type 2
No solution

3. Type 3
Infinite solutions

The three types of solutions are one solution, no solution, and infinite solutions.

What is the first step in the substitution method for solving systems of equations?

undefined. A) Graph the equations
undefined. B) Solve one equation for one variable ✓
undefined. C) Add the equations together
undefined. D) Eliminate one variable

The first step in the substitution method is to solve one equation for one variable.

Part 2: Understanding and Application

If two lines on a graph are parallel, what does this indicate about the system of equations?

undefined. A) One solution
undefined. B) No solution ✓
undefined. C) Infinite solutions
undefined. D) Two solutions

If two lines are parallel, it indicates that the system of equations has no solution.

Which scenarios could lead to a system of equations having infinite solutions?

undefined. A) The equations are identical ✓
undefined. B) The lines intersect at one point
undefined. C) The equations are parallel
undefined. D) The equations represent the same line ✓

A system of equations can have infinite solutions if the equations are identical or represent the same line.

Describe how the elimination method works in solving systems of equations.
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The elimination method involves adding or subtracti... equations to eliminate one variable, allowing
for easier solving.

A store sells pens and pencils. If 3 pens and 4 pencils cost $18, and 2 pens and 3 pencils cost $13,
what is the cost of one pen?

undefined. A) $2
undefined. B) $3 ✓
undefined. C) $4
undefined. D) $5

The cost of one pen is $3.

In a word problem involving a system of equations, which steps are necessary to set up the
equations?

undefined. A) Identify the variables ✓
undefined. B) Write down what each variable represents ✓
undefined. C) Set up equations based on relationships ✓
undefined. D) Solve the equations immediately

Necessary steps include identifying variables, writing what they represent, and setting up equations based
on relationships.

Create a real-world scenario where you would need to use a system of equations to find a solution.
Describe the variables and the equations you would set up.

A real-world scenario could involve budgeting for a party, where variables represent costs and
quantities.

Part 3: Analysis, Evaluation, and Creation

Which method would be most efficient for solving the system of equations: 2x + 3y = 6 and 4x + 6y =
12?

undefined. A) Graphical Method
undefined. B) Substitution Method
undefined. C) Elimination Method ✓
undefined. D) None, as there is no solution
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The most efficient method is to recognize that the equations are dependent, indicating no unique solution.

When analyzing a system of equations, what factors determine the method you choose to solve it?

undefined. A) Complexity of the equations ✓
undefined. B) Number of variables ✓
undefined. C) Coefficients of the variables ✓
undefined. D) Preference for graphical representation

Factors include the complexity of the equations, number of variables, and coefficients.

Analyze the system of equations: x + y = 5 and 2x + 2y = 10. Discuss the relationship between the
equations and the type of solution.

The equations are dependent, representing the same line, leading to infinite solutions.

If a system of equations is represented by two identical lines on a graph, what can be concluded
about the system?

undefined. A) It has a unique solution
undefined. B) It has no solution
undefined. C) It has infinite solutions ✓
undefined. D) It cannot be solved

If the lines are identical, the system has infinite solutions.

Evaluate the following statements about systems of equations. Which are true?

undefined. A) Systems with no solutions have parallel lines ✓
undefined. B) Systems with infinite solutions have overlapping lines ✓
undefined. C) Systems with one solution have intersect... lines ✓
undefined. D) Systems with two solutions are possible

True statements include that systems with no solutions have parallel lines, and systems with infinite
solutions have overlapping lines.

Design a word problem that involves a system of equations. Include the context, the equations, and
the solution.
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A word problem could involve budgeting for a party, where you need to find costs of items based on
given equations.

Propose two different real-world problems that can be solved using systems of equations. Briefly
describe each scenario and the type of solution expected.

1. Problem 1
Budget for a trip

2. Problem 2
Mix solutions

Examples could include budgeting for a trip and mixing solutions, each with unique solutions.
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